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Solving Sequence

c1 c3 Cg Cg Cs C11
A knot diagra
Ideals for irreducible component#ﬂ)f Xpar

I = (u™ +u®+ -+ 5u? 1)

* 1 irreducible components of dim¢ = 0, with total 44 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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w’ + 4ud® + 443
w —3u® —2u+u
u®d + 20u41 4o — 14ud + 1343
—u®2 4. -2 41
— 9u!' — 320 — 55u'? — 43010 — 9u® — 4ut +u? + 1
uld + 8u16 + 25ut* + 36wt + 19010 — 4u® — 208 + 20 — 302

( — 916 — 324 — 55ut? — 4300 — 9u® —dut 4w + 1 )
ail =

ail =

u'® 4+ 8ulb + 2501 + 36u'? 4+ 19019 — 4u® — 2u0 + 2u* — 3u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u*? —4u*! + ... — 20u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Co,Cr TR T N e |
c3,Cg utt =T =960+ 17
C4,C5, C10 uM B —2u—1
c8 utt u? 4 4200 — 53
Cg,C11 w51




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C2,C7 yM Ay 10y 41
€3,C6 Y™ 4+ 33y% .. — 1770y 4 289
C4,C5, C10 y44+37y43+--~— 10y +1
cg y* + 135" + - - 4 8822y + 2809
Co,C11 M =23yt . — 10y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
u=0.173491 + 1.1805007 2.34143 + 0.796851 | —9.60388 + 0.1
u= 0.173491 — 1.1805007 2.34143 — 0.796851 | —9.60388 + 0.1

u = —0.684801 + 0.3781281

3.75424 4 9.276771

—8.25553 — 7.970701

u = —0.684801 — 0.3781281

3.75424 — 9.276771

—8.25553 + 7.970701

u= 0.621068 + 0.4460821

8.22635 — 2.040731

—3.94848 + 3.441141

u= 0.621068 — 0.4460821

8.22635 + 2.040731

—3.94848 — 3.441141

u = —0.201180 + 1.2220301

—1.22666 + 3.110081

—13.45910 — 3.920901

uw = —0.201180 — 1.2220301

—1.22666 — 3.110081

—13.45910 4 3.920901

u= 0.668653 + 0.3609311

—1.01882 — 5.345551

—13.0771 + 6.67701

u= 0.668653 — 0.3609311

—1.01882 + 5.345551

—13.0771 — 6.67701

u = —0.531587 + 0.5327081

4.39098 — 5.195461

—6.57369 4 1.974351

u = —0.531587 — 0.5327081

4.39098 + 5.195461

—6.57369 — 1.974351

u= 0.221809 + 1.2508101

2.95833 — 7.067781

0

u= 0.221809 — 1.2508101

2.95833 + 7.067781

0

u = —0.628212 + 0.3254561

1.70221 + 1.515031

—10.15673 — 3.087501

u = —0.628212 — 0.3254561

1.70221 — 1.515031

—10.15673 4 3.087501

u= 0.051758 4+ 1.2950407

3.37520 — 1.282371

0

w=0.051758 — 1.2950401

3.37520 + 1.282371

0

uw= 0491173 + 0.5036111

—0.35195 + 1.461051

—11.42087 — 0.497781

uw= 0.491173 — 0.5036111

—0.35195 — 1.461051

—11.42087 4 0.497781

u = —0.558081 + 0.3791701

1.91831 + 1.747471

—7.74964 — 4.825401

u = —0.558081 — 0.3791701

1.91831 — 1.747471

—7.74964 + 4.825401

u=0.651243 + 0.0454911

—1.01454 — 3.879801

—14.3154 4 4.08311

uw=0.651243 — 0.0454911

—1.01454 + 3.879801

—14.3154 — 4.08311

u = —0.645744

—4.92194

—19.0830

u = —0.075458 + 1.3850107

8.25893 + 3.094531

0

u = —0.075458 — 1.3850107

8.25893 — 3.094531

0

u = —0.314368 + 0.4856431

2.57671 + 1.817981

—7.01819 — 3.759991

u = —0.314368 — 0.4856431

2.57671 — 1.817981

—7.01819 + 3.759991

u = —0.23908 + 1.433221

7.36078 + 4.690951

0




Solutions to I V—=1(vol +/—=1CS) Cusp shape
u = —0.23908 — 1.433221 7.36078 — 4.690951 0
u = —0.21140 + 1.4395471 7.75201 + 4.590841 0
u = —0.21140 — 1.439541 7.75201 — 4.590841 0
u= 0.18092 4 1.451761 5.84316 — 0.989091 0
u= 0.18092 — 1.451761 5.84316 4 0.989091 0
u = 0.25323 4 1.445361 4.78546 — 8.714821 0
u = 0.25323 — 1.445361 4.78546 + 8.714821 0
u = —0.25789 + 1.453671 9.6461 + 12.71917 0
u = —0.25789 — 1.453671 9.6461 — 12.71911 0
u = —0.17884 + 1.469731 10.80910 — 2.649981 0
u = —0.17884 — 1.469731 10.80910 + 2.649981 0
u = 0.22386 4+ 1.467531 14.3940 — 5.12681 0
u= 0.22386 — 1.467531 14.3940 + 5.12681 0
u= 0.333131 —0.518275 —19.1920




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C2,C7 utt =t 4 et -1
€3, C6 ut — Tu - — 96u + 17
C4,C5,C10 utruB e —2u—1
8 ™+t 4 20u— 53
9, C11 utt =t 4 5u? -1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Ca,C7 yM 4yt 10y + 1
es, C Y 33y" ... — 1770y + 289
€4, C5, C10 y* 437y o — 10y + 1
Cs y* 4+ 13y + - 4+ 8822y + 2809
Cg,C11 y44—23y43—|—~-- — 10y +1




